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ML.A. (Previous) Examination, 2016

SOCIOLOGY
Paper—V(D)
(Sociology of Information Society)

Time : Three Hours
Maximum Marks : 100

PART-A (@E-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.

[t uva AfTard ¥ u@s wed #T ITC S0 IS
¥ sfus 9 8 gsft gv # ofw 9EE

PART-B (@v=-9) fMarks : 50
Answer five questions (250 words each), selecting
one question from each unit. All questions carry equal marks.

&% THE 9 UH-UF 997 TAd B, el qre=r
999 HIfSUl Y% YT &1 SO 250 =l 9@ HARuw 7 BN
gt yeHi $ ik 9uHE B

PART-C (@vs-H) {Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.

HIE S UYT HISQ TDE T FT ST 300 =S
¥ s 7 B3 9t weR ® o7 9uE e
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PART-A
(wusg-2ar)

1. Answer all questions.

[yt el ® SR Qfem

UNIT-I

(TwTE-1)

(i) What is Informationism ?
goaEE = R?

(i1) Define Industrialism.

ST 1 gfeafya sifsa

UNIT-1I

(ZTE-11)
(1i1) What is Information Technology ?

= WefEr =R

(iv) What do you mean by Information Economy ?

gET SAdeaaTen § Y ¥ WHE B2
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UNIT-I1

(TwTE-111 )

(v) Who are Net Workers ?
‘o gwd’ ®F B2

(vi) Who are jobless and flexitimers ?

fa1 %1 (jobless) 3R F¥HIT (flexitiners) FI &2

UNIT-1V

(THE-IV )

(vii) What is Capital labour ?
oo o9 w82

(viii) What do you mean by Fragmented societies ?

Tfread a9 @ a9 == T ¥

UNIT-V

(T=FE-V)

(ix) Define Mass audience.
SH sa-we 1 9iafaa i
4685-D/3,460/555/222 3 [P.T.O.



20

(x) What is Computer mediated communication ?

‘gfieT® (computer) HWEAH | FER' T ¥?

PART-B
(@IE-=)

UNIT-1

(THE-I)

Discuss the role of Informationism in Capitalism.
gSilae o §9RAER &1 YfEs F1 e S|

OR
(3ean)

Explain the role of Information Technology.

T drefEy w1 sgfee w1 oaviE s

UNIT-1I

| (FE-I1)

How will you explain Information Technology Revolution ?

T WEfirRl HE F A HH FEAN?

OR
( 3En)
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Discuss a transition from Mass production to Flexible
production.

FEg IR 9 FEe SArA H qfiEds saEe

UNIT-III
(FHE-I11)

What are the new occupational structures in pressent-day
information society ?

FdqE gEA A § ¢ SgEdias §EAY HHE-E 82

OR
(3g4an)

Post-industrial society is based on Service economy and
Information technology. How ?

T SireifiE TS Qar srdferaten oR gEAT WRIfTEl W
amenfa &1 Ha?

UNIT-1V

(THTE-IV )

Discuss Global labour force in Information society.

o gue o dfvaw sm vt w1 sre S

OR
(3TYga)
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9.  Explain the restructuring of capital labour relationships with
Information technology.

T e ¥ v se-wE ® e @ A
EAIE L

UNIT-V

(FHE-V)

10. Discuss the role of Institutional control in developing the
media culture.

HER An §pfa & fsfag o O Serm famo 59
qfHE1 949y
OR
( 37erE)
11. How there is a rise of new media culture in India ?

IRd # 7§ §AR "W TEpfd F1 S59a g 8, $W?
PART-C
(TUs-H)

UNIT-I

(FFTE-1)

12. Discuss the historical change in Information
Technology.

I S | ffefas gfiedT #1 smwen sf
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UNIT-H

(gE-11)

13. Describe the transition from Industrialism to

Informationism.

AR O gEaEr § 9iEdw F1 faasm s

UNIT-I1I

(geRTE-111 )

14. Is there a global labour force ? Analyse it in context with
the advancement of Information technology.

¥ Afvaw sm o 22 g=A1 dEifie) & faem & 9gd
" faveago wifsa)
UNIT-TV

(THE-IV )

15. In present Information technology era, discuss the new

occupational structures emerging in society.

FAAM gE1 TR g0 ® g ¥ IWEt 92 Sraias
FEAIST &1 i FHifora|
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UNIT-V

($FE-V)
16. Analyse the rise of Media culture in different walks of life.
Steq & fafys &= A sgd '¥urR wam wfal w
fawemo Fifag)
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